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216 Ol Xt==¢& 39,724 42,587 A2,863
216-01 =3 0U =0l X ==& 39,724 42,587 AN2,863
O3 uxla 0ol Xt 39,724,000& = 39,724
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602 Ol XI =2 1,204,808 1,200,746 4,062
01 MIXIZ 1,204,808 1,204,808 1,200,746 4,062
O=221 WXxl=a 1,204,808,000& * 14! = 1,204,808
Lol 3Aa4 36,000 37,000 A 1,000
Lol =X & 36,000 37,000 A 1,000
LosX NA(ZEANLASINZ) 36,000 37,000 A 1,000
Co=RINZE 22 36,000 37,000 21,000
307 QIz2tol ™ 36,000 37,000 A 1,000
02 QIZtBAMANSE=X 36,000 36,000 37,000 21,000
OoLo=x212 A 36,000,000& = 14! = 36,000
JIEt 1,368 1,518 A 150
HY2IFY(ZFZS ) 1,368 1,518 A 150
JI2ZH (L EANLAEXINZ) 1,368 1,518 A 150




m
0
ot
o

22 -3Y -H9 - MNR2ANE - BHES N HUEXEN HunsZ
1,368 1,518 A 150
1,368 1,518 2150
1,368 1,368 1,518 150
980,000 * 14! = 980
388,000 * 14l = 388
Aos g A 1,242,176 1,239,264 2,912




w
e
H
g
A
oy
>
0x

o
b}
02
1l
Otoe

SIAHHE 20154
Ol & Xp= 0 200 &t
A2 ¢ BEANUA=SKIIS

= o o T oo o
o ==y=- & ol
TSl w e |myz | vx2 | gouz [3FEE | gao Ol Xt JIE ¥ @ |87 ENE |azzau |HYUZH W32 | JE | (@-@)
=== | == SS9 | (oxzs) = A0l A O] AFSIHL | AFSIH| |2 2= | 224 cdS8E | XIS
2009 X | 1,602,785| 900,000 0 0 0 0| 702,785 0| 422,682| 422,682 0 0 0 0 0| 1,180,103
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